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» A=[3 4 5;6 7 8; 5 8 06];
» sqgrt (A)
ans =
1.7321 2.0000 2.2361
2.4495 2.6458 2.8284
2.2361 2.8284 2.4495
» expm (A)
ans =
1.0e+007 *
1.0239 1.3898 1.3714
1.7666 2.3979 2.3661
1.6259 2.2070 2.1777
>> trace (A)
ans =
16
>> size (A)
ans =
3 3
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» a=[3 4;5 6]
a =

3 4

5 6
» disp(a)

3 4
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» disp('Display array')
Display array
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» A=[-1.9 -0.2 3.4 571;
» B=fix (A)
B:
-1 0 3 5
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» A=[-1.9 -0.2 3.4 5];
» B=floor (A)
B =
-2 -1 3 5
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» A=[-1.9 -0.2 3.4 5];
» B=ceil (A)
B =
-1 0 4 5
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» A=[-1.9 -0.2 3.4 5];
» B=round (A)
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» A=[-1.9 -0.2 3.4 5];
» B=sign (A7)
B =
-1 -1 1 1

Sl paall ey ighan X, Y Cun y o X dad b Jaa M=mod(x,y) &L -
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mod(x,0)=x
mod(x,y)=x-y.*floor(x./y)
y~=0
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» x=[3 3 -8 -171;
» y=[2 -2 -3 2];
» mod (x, V)
ans =
1 -1 -2 1
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rem(x,0)=nan
rem(X,y) =x-y.*fix(x./y)
yN=0
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» rem(x,yVy)
ans =
1 1 -2 -1
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» abs (=-5)
ans =
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» l==
ans =

0
» 3<1
ans =

0
» 10==1
ans =

0
» 10==10
ans =

1
» 10~=10
ans =

0
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» A=[3 5 2;7 2 1;06 2 6];
» B=[3 7 4;5 2 3;6 7 51;
» A==B
ans =
1 0 0
0 1 0
1 0 0
» A>B
ans =
0 0 0
1 0 0
0 0 1
» A~=B
ans =
0 1 1
1 0 1
0 1 1
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» u=[1 0 2 3 0 5];
» v=[5 61 2 0 7];
» u&v
ans =
1 0 1 1 0 1
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» ul|v
ans =
1 1 1 1 0 1
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» ~U
ans =
0 1 0 0 1 0
» ~~U
ans =
1 0 1 1 0 1
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» a=1;
» b=1
» xor (a,b)
ans =
0
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» u=[0 1 2 0];

» all (u)
ans =
0
» A=[0 1 2;3 5 0];
» all (A)
ans =
0 1 0
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» v=[3 0 8];
» any (v)
ans =

1
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» A=[5 6 8 9;4 3 8 5;6 7 4 11;5 4 6 3]
A =

5 6 8 9

4 3 8 5

6 7 4 11

5 4 6 3
» 1i=find (A>=8)
i =

9

10

13

15
» A(1)=100
A =

5 6 100 100

4 3 100 5

6 7 4 100

5 4 6 3
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>> A = zeros (4, 3, 2)
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>>
>>
>>
>>

zeros (2,3);
ones (2,3);
4;

0 0 0
0 0 0
1 1 1
1 1 1
4 4 4
4 4 4
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>> C=reshape (B, 2, 9)




